
SAP ABAP table T609UK {Foreign Trade: Incompleteness: Combination WR - L - L - B}

T609UK

MANDT [CLNT (3)]

VEREI [NUMC (1)]

UVEIL [CHAR (3)]

UVEIN [CHAR (3)]

KPEXI [CHAR (1)]

UVEIB [CHAR (3)]

EIVKP [CHAR (2)]

EIVPO [CHAR (2)]

T000

MANDT [CLNT (3)] T609UK-MANDT = T000-MANDT 0..N

1

T609B

MANDT [CLNT (3)]

KPEXI [CHAR (1)]

UVEIB [CHAR (3)]

 T609UK-UVEIB = T609B-UVEIB 0..N

1

T609L

MANDT [CLNT (3)]

UVEIL [CHAR (3)]

 T609UK-UVEIL = T609L-UVEIL 

0..N
1

 T609UK-UVEIN = T609L-UVEIL 
0..N

1

T609V

MANDT [CLNT (3)]

UVEXI [CHAR (2)]

 T609UK-EIVKP = T609V-UVEXI 

0..N

1

 T609UK-EIVPO = T609V-UVEXI 

0..N

1


